A2

A L R FE
T E MM
- T, AL 4,158,000
= T 1Bl PRAE _
(BisA )
T HFH 4 | DMOEEALR LTy 2 5 RN T3
L E i i % 3,780,000
AALA H SFI64E12H 17T H
AL El g s ARG | BEATR A% -
e HERL LY
AFLIR EHE 2,980,000 H 7 1 8 B 298,000
FATAE: E S = 4 5 10H] 20| #53[H] fi#%
RSt R FEIR
O |BRSfh mhaax 3,780,000
MRSt AL 3,850,000
O |HEE st 2,980,000 L
e S S o I e84 3,580,000
wmHEl AN L oW o4 ¥ OF 5 A L = o F 4%




A2

A L R FE
¥ E i
s 2,134,000
o (BlaA #2) e
;rél:l =
LHES R60 Lo6% ARV i}
(BlaA #)
T H 4 |SMeEERL) I EERNART T RE& T 5
L E i i % 1,940,000
AALA H SFI64E12H 17T H
AL El g s ARG | BEATR A% -
e HERL LY
AFLIR EHE 1,840,000 H 7 1 8 B 184,000
FATAE: E S = 4 5 10H] 20| #53[H] fi#%
O |HEE st 1,840,000 L
RS RSk b EER 1,930,000
O |BREtE vk AR 1,940,000
A S RHWERL FEIR
O |k ot FEdRx 1,910,000
wmHEl AN L oW o4 ¥ OF 5 A L= i F 435




